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NO calculator

1. The Ashton to Manchester canal is 9700 metres long.

Write down the distance in kilometres.

Source www.en.wikipedia.org

. . . . . . . . . . . . . kilometres

2. Change 32560 millilitres into litres.

. . . . . . . . . . . . . litres

3. Change 3800 grams into kilograms.

. . . . . . . . . . . . . kilograms

4. Change 600 millilitres into litres.

. . . . . . . . . . . . . litres

5. A kettle has a volume of 1750 millilitres.

Write down this volume in litres.

. . . . . . . . . . . . . litres

6. Change 30 metres into kilometres.

. . . . . . . . . . . . . km

7. An ostrich egg has a volume of 1300 millilitres.

Write down this volume in litres.

. . . . . . . . . . . . . litres

8. Change 325 grams into kilograms.

. . . . . . . . . . . . . kg

Answers 1) 9.7 2) 32.56 3) 3.8 4) 0.6 5) 1.75 6) 0.03 7) 1.3 8) 0.325
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